
   

 

TIGER 05> HUGGER 
 

Fitting kit: 

1 x Stainless steel bracket 

1 x M6 x 30mm socket Allen bolt 

2 x M6 x 16mm button Allen bolts 

2 x M6 x 20mm button Allen bolt 

5 x nylon washers 

1 x M6 large washer 

2 x M6 Nyloc nuts 

5 x M6 s/steel washers 

 

Please note: The Pyramid tiger Hugger is not suitable for off road use. 

 

Fitting instructions: 

 

In the first instance, mount the Hugger without fully tightening the fasteners and apply 

Loctite to all fasteners except the Nyloc nuts. 

 

Remove the chain guard. 

 

Unbolt the brake hose clip from the swing arm (do not remove the clip from the hose). 

 

Secure the bracket at the rear chain guard mount with the two holes up and inboard. Use an 

M6 x 20mm bolt with steel washer. Place a nylon washer between the bracket and the swing 

arm. 

 

Position the Hugger and secure to the bracket using the two M6 x 16mm bolts with steel and 

nylon washers – and the Nyloc nuts. 

 

Secure at the forward chain guard mounts using M6 x 30mm bolt with steel and nylon 

washers and larger steel washer between the Hugger and the chain slipper. 

 

Secure under the hose clip fixing using the M6 x 20mm bolt with s/steel washer, and a nylon 

washer between the hose clip and the Hugger. 

 

Finally check Hugger alignment and secure all fasteners. 

 

Please note: check hugger alignment and fasteners periodically. 

 

 

 


